
Executive Director
SYN YEW

ENTERPRISE VALUE
(EV)

EV

EQUITY VALUE
+ NET DEBT

Enterprise Value represents the total value of a company. It is calculated as:

Enterprise Value = Market Value of Equity + Net Debt

NET DEBT:

SHARES PRICE

*
SHARES 

OUTSTANDING

TOTAL DEBT - CASH & EQUIVALENTS
A common example of

such would be the
Market Cap.

MARKET VALUE OF EQUITY 

1.Market Value of Equity = 12 × 4,000 =

$48,000

2.Net Debt = $22,000

3.Enterprise Value = 48,000 + 22,000 =

$70,000

4.EBITDA = $7,000

5.EBITDA Multiple = 70,000 ÷ 7,000 = 10X

PUBLIC: 
(EXAMPLE)  (BOTTOM-UP APPROACH)

Use industry EBITDA multiples, with a

discount for lower liquidity and

transparency.

PRIVATE: 
(EXAMPLE)  (TOP-DOWN APPROACH)

1. Industry EBITDA Multiple = 10X

2.Apply a discount → Private

Company uses 8X

3.Company XYZ EBITDA = $7,000

4.Enterprise Value = 7,000 × 8 =

$56,000

5.Net Debt (book value) = $30,000

6.Estimated Market Value of Equity =

56,000 – 30,000 = $26,000



Market Value of Equity 

What shareholders could get if they sold their shares today

Book Value of Equity 

What shareholders “own” on paper 

These 2 values are rarely the same. 

Market Value > Book Value,  

Priced for potential” — Investors believe the

company has strong future growth

Market Value < Book Value

 “Selling at a discount” — The market sees

challenges or slower growth ahead

(1) FOR EACH EBITDA,
CALCULATE THE EV BASED

ON MULTIPLES.

(2) 
CALCULATE THE NET DEBT

(3) 
EV - NET DEBT = MKT. VALUE

OF EQUITY


